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CODES AND CIPHERS

Below are some ciphers types that you may encounter in your
investigation. There may be others - if a code does not fit, be
on the lookout for a decoder.

CAESAR CIPHER

Take the code: FRGH EUHDNLQJ key =3

Shift all the letters in the alphabet, so that they are offset by
your key number. In this case, the key is 3, so the A starts 3
positions over. When reading a code, F turns to C, R becomes
an O, etc.

Al B C|D|E

GIH T| T{ K L{M N OP QRIS TNV N XYW Z

~

F
XY Z[AlB C DIE[F[GIH[T|TIk[LIMINJO[P]Q]R[S] TIW[V|V

Following these, we find that the final code is: CODE
BREAKING!

RAIL FENCE CIPHER

Take the code: C AGOEBEKNDRI key =3

Draw a grid with the same number of columns as characters in
your code, and as many rows as your key.

In this case, we have 13 characters (including the space), and
our key is 3, so our grid is 13 x3. First, mark the grid cells in a
zig-zag pattern, like so:

Then fill it with the letters, one row at a time. For example, the
first row would show the first 4 characters (including the
space): C-space - A -G

G (space) ) G




Fill out the rest of the letters, one row at a time, the read from

left to right. The final code is: CODE BREAKING

C

(space)

A

D

VIGENERE SQUARE CIPHER

Take the code ‘UCOZ FJSLFMFU, with the key ‘Solve’ (in this case,

the key is a word and not a number). First, Line up the code with your

key:

Cipher L [C [0 [z [F [T S [U z M
“ey S [0 [T [V [E[5 [0 [T [V [E[5 |0
(repeating)

Then, for each letter, find the corresponding number, and
then find the difference between them (where A=1and Z=26).

Cipher d1 15 A6 ) 0 111 |12 ) ¥ |6 d1
key " [ |12 (322 19 "M (1B |12 (22 |5 |11 |15
dif Ference d |[-1213 |4 4 1% [0 -16 1316
If the difference is less than O, add 26 to the result.
dif Ference d 143 4 1 914 0 16 (8 |13 |6
Rdding 26 +o 14 11 10 13
Once all the numbers are positive, add 1 to them, and then
find the corresponding letter!
fu positives | ] " |3 4 1 m |4 0 W {8 |13 |6
Add 1 to an | 3 B |4 i) I | 1 N T 111 |1
Pl igErg
(ODE G 0 D E B R E A K 1 N G




MORSE CODE If you don’t like solving codes by hand, you
can use this website:

Space between WORDS =/ https://cryptii.com/

Space between SENTENCES = <>

A o mm N = o
B mmeeoeo O == =m ==
C EEN o mmm o P o mm mm o
D mmeoe Q Hm =m ¢ Hm
- E© R © mm ¢
@ F oomme S oo 0
% G Hm mm e T ==
2' H o000 U o o mm
| oo V 60 ¢
] o mm mm = W o I mm
K =m ¢ mmm X HEE o ¢ HEm
L ommm oo Y EEE ¢ ImE mm
M N Z mm o o
0 N INE NN I N 5 o000 o
O 1 ¢ mm mm mm mm 6 mmoeooo
% 2 oo mm mm = ] EEm Eu e oo
2 3 ooo mm mm g HIN HIN Hm ¢ o
4 o000 mm 9 EN EN =N =Hm ¢
EXAMPLE:

R A N R N
C ODE B REAKINSG

MILITARY TIME

. N . Examples:
To find military times: P
0000 = 12 am
AM: remove the colon, add a
) ) . 0830 = 8:30am
leading O to all single-digits 1356 = 1:56 pm
PM: same as AM, and add 12 to '
2109 = 9:09 pm

the hours
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1 The Periodic Table of the Element
A € reriodic lable O e ciements
1A
1. 1 13
1A A
2A 3A
6. 9.012182 4
Be
Beryllium
899.5 157
22.9¢ 24300 1) 3 4 5 6 T 8 9 10 11 12 w9853 13
\ Mg B IVB VB VIB viiB Vil Vil Vil B 1B Al
Magnesium 3B 4B 5B 6B 7B 8 8 8 1B 2B Aluminium
7371.7 131 5775 161
39.( 40.078 20 44.95591 2 1 47.867 22 50.9415 23 51.9962 24 54.93804 25 55.845 26 58.93319 27 58.6934 28 63.546 29 65.38 30 69.723 3 l
Cam Sc aTi aVv Cr Mn Fe Co Ni Cu Zn Ga
Calcium Scandium  Titanium Vanadium  Chromium = Manganese Iron Cobalt Nickel Copper Zinc Gallium
589.8 100 633.1 136 658.8 154 650.9 163 6529 73 155 7625 1.83 7004 191 7371 188 7455 190 906.4 165 5788 181
85. 87.62 3 8 88.90585 3 9 91.224 40 92.90638 4 1 95.96 (98) 43 101.07 44 102.9055 45 106.42 46 107.8682 47 112.441 48 114.818 49
SEY Zr wNb @Mo aTc WRu WRh aPd aAg 4Cd ain
Strontium  Yttrium Zirconium  Niobium Molybdenum Technetium Ruthenium Rhodium Palladium  Silv Cadmium  Indium
549.5 095 600 122 640.1 133 6521 160 6843 702 190 7102 220 719.7 228 8044 220 731 193 867.8 169 5583 178
132. 137.327 56 174.9668 71 178.49 72 180.9478 73 183.84 186.207 75 190.23 76 192.217 77 195.084 78 196.9665 79 200.59 80 204.3833 81
C Ba Lu Hf Ta Re gl O Ir Pt Au g Ho ol T1
Barium Lutetium Hafnium Tantalum  Tungsten Rhenium Osmium Iridium Platinum Gold Mercury Thallium
502.9 0.89 5235 127 6585 130 761 150 770 700 1.90 840.0 220 880 220 870 2.28 890.1 254 1007.1 2.00 589.4 162
o I -~ 08 - Jigd - 308 -~ 68 ~ i - i6g -~ g - Al - il 0 | v 113
Ra Lr Rf
Radium Lawrencium Rutherfordium D b Sg 4 B h H S M t 4 Ds 4 Rg A C n g U Ut
5003 090 470 Dubnium Seaborgium Bohrium Hassium Meitnerium Darmstadium Roentgenium Copernicium Ununtrium
A'“'““I mass At . 140.116 140.9076 144.242 (145) 150.36 151.964 157.25 158.9253
omic
chomical |20 14 Atomie Ce Pr N S u Gd Tb
Ceri Prases Neo Prol Sam Euro Gad Terbii
Symbol - 534. 521 533. 540 544. 547. 5934 565.
232 231.0: 238.0: (237) (244) (243) (247) (247)
Name —+Hydrogen
1312.0 2.20-{ Electonegativity
|

I
First ionization energy

N

ks

]

14 15
IVA VA
4A 5A

118.710 50
Tin

708.6 1.96
207.2

82 208.9.804 83
Pb  Bi
Lead Bismuth
715.6 233 703

114

2.02

115

Uup

Ununpentium

(289) (228)

Fl

Flerovium

(292)

Lv

Livermorium

<
2S5

116

17 4.002602

viA He

Heliu
23723

k%

20.1797

Ne

Neon
2080.7

e

39.948

Ar

Argo
1520.6

83.798

Kr

Kryp

13508

131.203

Xe

Xenol
11704

Lol slos

(220)

Rn

Rado
1037

s

(294)

U

Unu

il

168.9342

T

Thuli

596.

173.054

Y

Ytterl
603.

i
L

(258) (259)



	8.5 x11 vertical
	8x6 horizonal

